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PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer 

sheet. 

51- We have met some really nice people since we … to this quiet and peaceful neighborhood. 
1) have moved 2) moved 3) are moving 4) were moving 

52- You’d better know that I … to go … since I came home. 
1) decided-shopping  2) have decided-shop 

3) decided-shop   4) have decided-shopping 

53- My teacher has dropped a few hints that he will have no choice but to let my parents know if I 
don’t attend the classes ......................................................................................................................... 

1) commonly 2) importantly 3) regularly   4) usefully 
54- The decision which led to serious problems was based on the … information given by the young 

university students.  
1) recreational 2) homeless 3) powerful 4) incorrect 
PART B: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice 

on your answer sheet. 

Louis Braille …(55)… the Braille system in 1821. Blind people use this means of communication 
widely to read and write. Blind people read Braille by moving ...(56)… and feeling the letters and 
numbers. Louis Braille became blind himself at the age of three. He developed the system in order 
to improve the books blind people used at school. He …(57)… a code he got from a soldier and 
made it simple so that everyone could learn it. 

        
       )  2(  10:     
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55- 1) imagined 2) cured 3) created 4) influenced 

56- 1) over a little cells their fingers 2) their fingers over a few cells  

 3) a little cell  their fingers over 4) over a few cell their fingers  

57- 1) changed 2) produced 3) increased 4) confused 

PART C: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 

on your answer sheet. 

We all know that high blood pressure is one of the most dangerous side effects of stress, as well as a 

huge risk for heart diseases. However, it’s hard to be stressed when you’re laughing. Researchers 

have studied if laughter can decrease blood pressure or not. There are more than a few studies that 

show a decrease of blood pressure after laughter such as a 2017 study in the Journal of Dental and 

Medical Research. 40 patients listened to CDs of comedy comic shows for sixteen 30-minute sessions 

for the research over eight weeks, and researchers saw a decrease in their blood pressure. 

   Another study found that three one-hour laughter therapy (cure) sessions improved the depression 

and also negative emotions of cancer patients. In addition, a big laugh uses about the same energy as 

walking more than half a mile. They also found that laughing makes the heart beat faster and makes 

the blood vessels wider. It can also attract others’ positive attention.   

   These days we hear this sentence a lot that laughter is a medicine itself, and it seems that there are 

some scientific truths to this idea. After all, I don’t think that laughter has any harm, and according 

to the facts we mentioned, it can fill us with joy and health. So, let’s have a smile on our faces and 

laugh it up, at least for our health. 

58- What is the best title for the passage? 

1) Positive and Negative Effects of Laughter 

2) Research Projects Related to Laughter and Illnesses  

3) Laughter Is a Kind of Doctor 

4) Laughter Therapy for Cancer and Depressed Patients 

59- The pronoun “it” in paragraph 3 refers to … . 

1) joy 2) smile 3) harm 4) laughter 

60-  We can understand all of the following from the passage EXCEPT that .....  

1) 180 minutes of a laughter therapy can help someone with depression 

2) we can lose weight by laughter  

3) laughter can increase a person’s popularity 

4) because of the faster heartbeat after laughter, laughing is harmful to our health 
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        )2فيزيك (   

  

  باشد. می……به سمت قطب……زمین از قطبکرةجهت میدان مغناطیسی درون- 101

    شمال جغرافیایی، جنوب مغناطیسی) 1

  ) شمال مغناطیسی، جنوب مغناطیسی2

    افیایی) جنوب جغرافیایی، شمال جغر3

  ) جنوب مغناطیسی، شمال مغناطیسی4

vیک،زیرمطابق شکل- 102 حرکت است و نیــروي وارد بــر آن از طــرفدرون میدانی مغناطیسی در(درونسو) بار الکتریکی منفی، با سرعت

F میدان مغناطیسی،


    است؟. جهت میدان مغناطیسی کدامباشدمی

1 (               

2 (     

3 (      

4 (  

  شود. نامیده می…از سایر نقاط است،بسیار بیشترنقاطی از آهنربا که در آنجا خاصیت مغناطیسی- 103

      سیشیب مغناطی) 1

  ) محور مغناطیسی2

    النهار مغناطیسی) نصف3

  مغناطیسی) قطب4

  زیر درست است؟هايعبارتیک ازکدام- 104

nتیغهیاگر آهنربای) 1 n)1قسمت تقسیم کنیم،اي را به ) .آهنرباي جدید خواهیم داشت  

  فقط جذب وجود دارد.  ،ی) در پدیدة القاي مغناطیس2

  شود. براي همیشه داراي خاصیت مغناطیسی میدائمی را چند بار و در یک جهت روي یک سوزن بکشیم، سوزنی) اگر آهنربای3

  دهد. قطب شمال مغناطیسی کرة زمین را نشان می ،آهنرباNقطباگر آهنربا را آویزان کنیم تا آزادانه بچرخد،) 4

     )2فيزيك (
ي و مدارهايجريان الكتريك
(از ابتداي توانجريان مستقيم

در مدارهاي الكتريكي تا پايان 
(از ابتدايمغناطيسفصل)/

فصل تا ابتداي نيروي مغناطيسي 
  وارد بر سيم حامل جريان)

91تا67هايصفحه

  گذاري قبل از شروع هر درس در دفترچة سؤالهدف  دقيقه25
  خود را بنویسید:10گذاري چند ازهدف،)2(فيزيكهاي درسگویی به سؤالوع پاسخلطفاً قبل از شر

  توانید پاسخ صحیح بدهید؟سؤال به چند سؤال می10از هر
  بوده است؟10عملکرد شما در آزمون قبل چند از

گذاري شما براي آزمون امروز چیست؟هدف
  زمون امروزبراي آ10گذاري چند ازهدفآزمون قبل10چند از
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